wratera srvaere aflar,
nn,un d n-m-w ulm vlmrnu Iﬂlrhwu lmrldvnum uum Mfm:vu o, q,m.m r'f? M )

TETEY

e v 2 CL M(JM( “ 2091 1':, / q ';'1 Tﬂ'ﬂ"n/ (J ’f) ¢ 12 A2 ’
M TERTCE

Quotation Notice

fRwg- ffveneaa & s @l Ry o qae el o) oo woy vy wrdy ard
wrrfyal ¥ av g weg v @ el W)
gudast favarsnta Q& @ weqenel aeay wife e fafwenr wifaran
wag frfdaarery warge Qb (o) A wnfda qaemdeew amef) o faffe ffagr srfe fomn
wen R, Rraad o Meafafea wieu 8 & eees g oy -

Rrfearery ¥ wnfa wmﬂ’nﬁv o Ravr-
D Wl 3 yeR o | ww wfem [ w) e | e of
yfdy =
01 AC Gas Pipe 1/4 -
02 AC Gas Pipe 5/8 i
03 AC Gas Pipe 1/2 T
04 Dami Nut 1/4
05 Dami Nut 5/8
06 Dami Nut 1/2
07 Sleev 1/4
o8 Sleev5/8
09 Sleev1/2
10 Flering Nut 1/4
1 Flering Nut 5/8
12 Flering Nut 1/2
13 P.C.B 1.5 TON
14 P.CB2 TON
15 Compressor 1.5 Ton
16 Compressor 2 Ton
17 Condensor Coil Copper
18 Drain Pipe
19 Outdoor Stand
20 Outdoor Fasteners
21 Cable 2.5 mm (3 Core)
22 Cable 2.5 mm (4 Core)
23 Capacitor 45 mfd
24 Capacitor 50 mfd
25 Fan Motar 1.5 Ton
26 Fan Motar 2 Ton
27 Fan Motar Capacitor 2.5
28 Fan Motar Capacitar -4
29 Remote
30 R -22 Gas
31 Contector
32 Profling Gas
3 Brizing Rod
M4 Hitlon Tap ]

E:\Stationary 2017-1B\fy 2019-20, Stationary Fy 2019-20



35 16 Amp Top
E Room Sensor
37 Temperature
38 Blower Motar
39 Sasimmineg Motar -, XN R MR W
40 Fan Motar Blade
41 Service Valve Split AC1/4
22 | Service Valve Split AC5/8
43 | Service Valve Split AC1/2
s | ACServicineg Charge
45 AC Repairing Charge
46 AC Dismantlc Charge
47 AC Installation Charge

Rifroare 3 ®Ifa TaReSER wrRl @1 fm v -

1P ¥ R B I AT I DS 3 299 B @ W Jead B

2 wa o ¥q Pfar/afen Feed @ P ol a8 e ol srgadt B st wifdE
MaE e’ Sa wwd # W 8 e 2 |

3 ARG BU/YEREE B P URRI BRTE WeR H9 W 2002 U@l yafed W @ HeR &Y
form / e Fram @ orgeR i 8

4 SR THTR B YR R 9 B SWRIG Bt B €R TF UgT b A1 8 |

o SWRIIER I gewde forems § o e § 15 fRaw & iR w500 O
TH o1 P D) ARl Y | el @ Wi dIRYE A T8 B A9l |

.Q,'l‘]
HYE TD
WW%WWW
weg Rifearey, Fai, g (@)

gl.RTe/ o0F [o6 [2029
1. aﬁmmawwwﬁwmwﬁwwm—gﬁ B.) Bl AR G

s ww@%ﬁﬁ%&j

WW?{%W%@WWW
g ffeeare, saigg, g (@)

W/WTH /CCMGMCH /2024/ 1 250

E:\Stationary 2017-18\fy 2019-20, Stationary Fy 2019-20



